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PATTERNS OF EVOLUTION AND SELECTION - Chapter 16 & 17 

MULTIPLE CHOICE: Circle all that are true. There may be MORE THAN ONE right answer.

Darwin believed in the idea that evolution happened slowly over a long period of time called __________


A. punctuated equilibrium


B. gradualism




C. symbiosis


D. mass extinction

[image: image1.png]& Disruptive Selection

Number of Birds
in Population

Beak Size —————————————p




A bell-shaped curve like the one at the left, is always seen in when graphing ___________ traits.


A. single gene


B. polygenic


C. evolving


D. recessive
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Which of the following is most likely to have caused the change in the population shown in the graphs at the left?


A. a new predator prefers dark-tan crabs


B. a new predator prefers light-tan crabs


C. a new beach color makes medium-tan crabs the least visible


D. a new beach color makes medium-tan crabs the most visible
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The pattern of evolution that explains how birds have evolved so many different kinds of feet that are adapted to many different environments is _______ evolution.


A. convergent


B. divergent


C. coevolution
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The pattern of evolution seen in horses in which long stable periods without change are interrupted by short periods of rapid change is called _____________.


A. convergent evolution


B. mass extinction


C. punctuated equilibrium


D. gradualism

LABEL THE THREE GRAPHS BELOW SHOWING PATTERNS OF SELECTION:



A




B



     C
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 ________________________

MATCH THE GRAPH ABOVE WITH THE POPULATION DESCRIPTION:

_____ In which of these is the fitness of individuals at one end of the normal  distribution 
  
   
  curve higher than that of individuals in the middle or at the other end of the curve

_____ In which of these is the fitness of individuals in the middle higher than that of 
  
               individuals at the extreme ends

_____  In which of these is the fitness of individuals at the extreme ends higher than that of 
  
                individuals in the middle

_____  Human babies born smaller than average are likely to be less healthy and less likely to survive.

Larger than average babies are likely to have difficulty being born. The fitness of these larger or smaller weight babies is lower than average-sized babies so human babies tend to born of average size.

_____  Birds with bigger, thicker beaks can feed more easily on larger, harder seeds. A food shortage

causes the supply of small and medium seeds to run low, leaving only larger seeds. Birds with bigger beaks show greater fitness than birds with medium or small beaks. Over time more birds with bigger beaks survive and reproduce.

_______  The orange and black pattern of a Monarch butterfly serves as a warning to sharp-eyed birds that the Monarch is poisonous to eat and tastes bad. Individuals with the brightest color pattern were

More likely to warn off birds and survive to reproduce than those with a dull or medium color pattern.

over time and many generations, the Monarch population became more brightly-colored.

_______ In birds, feather color among males is more likely to attract a mate, but also more likely to attract a predator.  Over time and many generations, the highest frequency color is for males with medium colors, while males with very dull colors and males with very bright colors became increasingly rare. 

_______  A population of birds lives in an area where plants with medium sized seeds are wiped out by a fungal infection. Birds with unusually large or small beaks would have higher fitness than those with medium sized beaks. Over time the population splits into two subgroups; one that eats small seeds and one that eats large seeds.  

MATCH THE PATTERN OF MACROEVOLUTION WITH ITS DESCRIPTION

You can use them more than once!

_____ Whales, sharks, and penguins all have streamlined bodies

A. COEVOLUTION


end appendages for moving in water even though they


belong in different classes of animal classes 


B. ADAPTIVE RADIATION


(mammals, birds, fish)











C. MASS EXTINCTION

_____ Hummingbirds have a beak just the right length to reach


the nectar in a cardinal flower and as they feed their    

D. CONVERGENT EVOLUTON


foreheads bump into the pollen structure. Cardinal flowers 


are red which hummingbirds can see but bees can’t,

E. PUNCTUATED EQUILIBRIUM


and their pollen structure is at just the right height for




the hummingbird to pick up pollen as it feeds.







____ 
Horse evolution shows long stable periods of little evolution


interrupted by brief periods of rapid change 

____ 
The Galápagos finches evolved through natural selection from 


a common ancestor into a wide variety of different looking species

with different kinds of beaks

____  At the end of the Cretaceous period an asteroid hit the Earth


causing the loss of many species including the dinosaurs

____  
Ostriches are native to the savannahs of Africa, while penguins live in the polar regions.


Although ostriches and penguins are closely-related, they look very different.

____ 
Ostriches and giraffes are both native to the savannahs of Africa.

They share the same characteristic of a very long neck.

____  Also called divergent evolution

